mathrm a'N

13000 GeV pp Z+Jet
© — T T T | T T T | T T T inf%
3 B 45
= — Multiplicity )\_OO (charged only) (CMS jet substructure) 3
8500 [— —=
© B m CMS 7 ;
= | —&— Pythia 8.308 default n
= — ---v-- Pythia 8.308 tune-AU2 e
£400 |~ - 4 Ppythia 8.308 tune-AU2Iox -1z
o [ 8- Pythia 8.308 tune-AU2loxx %
= [ —— Pythia 8.308 tune-AU2m al=
£300 — —
E — —
= b 13
5200 (— -3
= [
£ r <
© = =
£100 — — E
= [ 15
° L 15
£ 00— - — 7
= - -2
© B 18
£ e ) I |

2 = —2
) B N
= N ]
) B ]
e 1 1
e _
IS | _
o
0.5 —0.5
| 1 1 1 | 1 1 1 1 | 1 11 1 |
0 20 40 60

multiplicity (charged-only)



	Contents
	Page 1


